St Catherine’s School

Student’s Name: . QUESTION 1 START A NEW BOOKLET

Answer in your writing booklet.

Choose the correct answer.

3 marks

Waverley @ .
]
120*
Year 11 Mathematics
Preliminary Task 3 | . - D
. NOT TO SCALE

9t June 2015

Time allowed:

Working time 55 minutes + reading fime 3 minutes

In the diagram above, AR || €D, AD = CD. £CAB = 1200,

Which of the following statements is False?

Total marks:. 42 marks ‘ ‘ . A) ZCAD = 60° (B} AADC is equilateral
Weighting: 20% (©) £CAB = £ACD (D) 2BAD = £ADC
INSTRUCTIONS (b} A line 7. makes an angle of 45° with the positive x — axis and passes through

. & & & @

There are 5 questions each of different value.

the point (1,5}, What is the equation of line L?
Complete Questions 1, 2 and 3 in one bookfet and Questions 4 and 5 © poin .( ) 4

in the second booklet. S
Marks for each question are indicated. @A y=xt+d B) y=-x-4
All necessary working must be shown. © y=-—x+4 O y=x+6

Diagrams should be drawn using pencil and ruler.
Approved scientiftc calculators may be used.

Marks may be deducted for careless or badly arranged work., .
: (¢  The equation of the line § + % = 4 wiitfen in gradient-intercept form is?

i ' - ®  y=-F+20 B) y=—F+20
Question 2 10 . | .
Question 3 . " /10 © y=—7+60 D) y=5-+20
Question 4 7
Question 5 n2
TOTAL 42

End of Question 1
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QUESTION 2 10 marks
() va AL S)
t —
0 B(8,-1)X
C(1.-7
DIAGRAM NOT DRAWN TO SCALE
In the diagram, 0(0,0), 4 (L5), B(8,—2) and C(7,—7) arc the vertices of
a quadrilateral Q4BC. .
()  Find the midpoint of the interval joining AC. 1
()  Find the pradient of OC. 1
(iii)  Show that the equation of OCis x +y =0, 1
(iv)  Find the exact length of OC. 2
(v)  Show that AB is parallel to OC. 1
(vi)  Find the exact perpendicular distance from B to OC. 2
(b)  The interior angle of a regular polygon is 150°. How many sides does the
polygon have? 2

End of Quesﬂoﬂz
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QUESTION 3 10 marks

(@ ()  Find the point of intersection of the fines 2x + 5y = Band3x — 2y = ~7. 2

()  Hence find the equation of the lipe passing through the point of intersection
of the lines 2x + 5y = 8 and 3x — 2y = —7 and perpendicufar to the line 3
4x — 3y — 1 = 0. Give your answer in general form.

() )
A 12em B
9 em|
M
) ¢
DIAGRAM NOT DRAWN TO SCALE

ABCD is arectangle with AB = 12cm, AD = 9%cm and AM is perpendicular to BD.

(3] Copy or trace the diagram onto your answer sheet.

(iiy  Find the length of BD! 1
(iii)y Provethat AABM is similar to ADBA. 2
(iv)  Hence find the length of BM. 2
End of Question 3
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QUESTION 4 START A NEW BOOKLET 7T marks

@

&

B
NOT TC SCALE

ABC and ABD are two triangles. X, Y and Z are points such that XY | CB and YZ || BD.

AX =5cm, XC =3cmand AZ = 7cm.

) Copy the diagram into your booklet and mark on it the given information. 1
(i)  Find the value of ZD, giving reasons. 2.

NOT TO SCALE

In the diagram sbove JKLM is a kite and LMN is a triangle.

JM I LN, JK = KL, JM = ML =MN, £JKL =26 and £/ML = 8.

) Copy or trace the diagram into your booklet.

(i)  Show that £JML = 38°, giving reasons. y
(i) Determine the size of 4LNM giving reasons. 2
End of Question 4
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QUESTION 5 ' 12 marks

(®)

(b}

(i)  Find the perpendicular distence from the point (0,0) to the line 5x -+ 6y = 30. 2
(i)  Hence determine how many times the line 5x + 6y = 30 infersects the

circle x? + y? = 4. Give reasoning with your answer. -2

In the diagram CT bisects ZACB, AE is perpendicular to CT and M is the midpoint
of AB. AE produced meets BC at the point P.

T M
FIGURENQT TO SCALE

] Copy this diagram onte your answer booklet and mark in all the given

information, 1
(iiy  Prove that AACE is congruent to APCE. 3
(i) Explain why AE = EP. - 1
{iv)  Hence prove that EM is paraltel to PB. 3
End of Question 5
END OF TASK
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